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Solving Logarithmic Equations

Solve each equation.
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Review: Simplify.  Your answer should contain only positive exponents.
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Review: Condense each expression to a single logarithm.

27)  

  

log
7

  

x

3
 + 

 

log
7

  

y

3
 + 

 

log
7

  

z

3

28)  

  

3 log
7

  

a + 

 

15 log
7

  

b

Review: Expand each logarithm.
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Review: Solve each equation.
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Solving Logarithmic Equations

Solve each equation.
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Review: Simplify.  Your answer should contain only positive exponents.
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Review: Condense each expression to a single logarithm.
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Review: Expand each logarithm.
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Review: Solve each equation.
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